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Note :— () Answers may. be written either in English or
in Hindi; but the same medium should be used
throughout the paper.

(@) The maximum marks printed on the question
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regular colleges {Cat. ‘A"). These ‘marks will,
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Attempt Five ques?;ions m all.
. All questions carry equal marks.
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Outline the main determinants of quantity
demanded and quantity supplied and explain how
these interact to determine the market equilibrium.

What is the equilibrium market price and quantity

if demand and supply curves are as follows :

L

Demand : P

100 - 2q

Supply : P = 16 + 5q ' 105 .
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100 - 2q

16 + bq

Explain the concept of income ei&sticity of demand.

Why does the -income elasticity of demand for

food tend to be low ?

In a particular month, fall in the price of a

commodity by Rs. 10, leads to rise in its demand

by 40 units. If the new price is Rs. 30 and new

quantity demanded is 60 units, then calculate the

price clasticity of demand.
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{c) Expléin the concept of rent control.r-What are

its consequences ? B 4,8,5
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3. (a) What would be the shape of indifference curves

in the following cases ?

@ A good that has negative utility after some

-

level of consumption. -
() A good that gives zero utility.

(#) A good which is not consumed at all. -

(») Explain the Slutsky decomposition of income and

substitution effects for inferior goods. 6,9
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. Use isoquants to show the combinations of inputs that

would minimjze a firm’s cost and explain what these
mean for the choice of inputs that a-profit-maximizing

firm will use to produce a specific output. 15
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5. How do we derive the long-run supply curve of an
indu.t;try in a perfectly competiti\'re .market ? What factors

+

determine its shape ? ‘ - 15
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6 @ Explain‘tht‘e short-run equilibrium condition for

a firm under monopolistic‘ competition.
() What is a Nash equilibrium ? How is it different -
from ‘a dominant strategy and the co-operative
equilibrium ? Explain gwmg examples. 7,8
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(@ Analyse the effect of technological change and

change in fixed costs on competitive outpﬁt.

. () Show how under conditions of perfect competition

.each factor is paid a reward equal to the value
of itg; marginal pro&uct. | 78
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Write short notes on any-two of the following :
@) Case for protectionism;
® Priée-discriminatian;

(¢) Principal-agent problem;

(d) Producﬁon pc;ssibi]ity curve. '  TW,TA
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